
SAP ABAP table ROIO_GR_LIKP_BADI {Delivery header fields for cross dock BAdI}

ROIO_GR_LIKP_BADI

BZIRK [CHAR (6)]

VSTEL [CHAR (4)]

VKORG [CHAR (4)]

INCO1 [CHAR (3)]

ROUTE [CHAR (6)]

FAKSK [CHAR (2)]

LIFSK [CHAR (2)]

KNFAK [CHAR (2)]

LPRIO [NUMC (2)]

VSBED [CHAR (2)]

KUNNR [CHAR (10)]

KUNAG [CHAR (10)]

KDGRP [CHAR (2)]

TRAGR [CHAR (4)]

ROUTA [CHAR (6)]

VKBUR [CHAR (4)]

LGNUM [CHAR (3)]

TRATY [CHAR (4)]

AULWE [CHAR (10)]

WERKS [CHAR (4)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 ROIO_GR_LIKP_BADI-KUNAG = KNA1-KUNNR 

0..N

{0,1}

 ROIO_GR_LIKP_BADI-KUNNR = KNA1-KUNNR 0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ROIO_GR_LIKP_BADI-WERKS = T001W-WERKS 
0..N

1

T151

MANDT [CLNT (3)]

KDGRP [CHAR (2)]

 ROIO_GR_LIKP_BADI-KDGRP = T151-KDGRP 

0..N

{0,1}

T171

MANDT [CLNT (3)]

BZIRK [CHAR (6)]

 ROIO_GR_LIKP_BADI-BZIRK = T171-BZIRK 
0..N

{0,1}

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

 ROIO_GR_LIKP_BADI-LGNUM = T300-LGNUM 
0..N

{0,1}

TFACD

IDENT [CHAR (2)]

 ROIO_GR_LIKP_BADI-KNFAK = TFACD-IDENT 
0..N

{0,1}

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 ROIO_GR_LIKP_BADI-INCO1 = TINC-INCO1 
0..N

{0,1}

TPRIO

MANDT [CLNT (3)]

LPRIO [NUMC (2)]
 ROIO_GR_LIKP_BADI-LPRIO = TPRIO-LPRIO 0..N

{0,1}

TTGR

MANDT [CLNT (3)]

TRAGR [CHAR (4)]

 ROIO_GR_LIKP_BADI-TRAGR = TTGR-TRAGR 
0..N

{0,1}

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 ROIO_GR_LIKP_BADI-VKBUR = TVBUR-VKBUR 

0..N

{0,1}

TVFS

MANDT [CLNT (3)]

FAKSP [CHAR (2)]

 ROIO_GR_LIKP_BADI-FAKSK = TVFS-FAKSP 

0..N

{0,1}

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 ROIO_GR_LIKP_BADI-VKORG = TVKO-VKORG 

0..N

{0,1}

TVLS

MANDT [CLNT (3)]

LIFSP [CHAR (2)]

 ROIO_GR_LIKP_BADI-LIFSK = TVLS-LIFSP 

0..N

{0,1}

TVRO

MANDT [CLNT (3)]

ROUTE [CHAR (6)]

 ROIO_GR_LIKP_BADI-ROUTA = TVRO-ROUTE 

0..N

{0,1}

 ROIO_GR_LIKP_BADI-ROUTE = TVRO-ROUTE 

0..N

{0,1}

TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

 ROIO_GR_LIKP_BADI-VSBED = TVSB-VSBED 

0..N

{0,1}

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 ROIO_GR_LIKP_BADI-VSTEL = TVST-VSTEL 

0..N

1

TVTY

MANDT [CLNT (3)]

TRATY [CHAR (4)]

 ROIO_GR_LIKP_BADI-TRATY = TVTY-TRATY 

0..N

{0,1}

VALW

MANDT [CLNT (3)]

AULWE [CHAR (10)]

 ROIO_GR_LIKP_BADI-AULWE = VALW-AULWE 

0..N

1


